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® Mason’s gain formula 7= 2 X

K=l

e Unit step input response formulae
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@ The Steady state errors for type 0, type
1, Type 2 Unity feedback system are

Input Unit step | Unit Ramp| Unit Pa-
System Type rabola
Type 0 1 - 0o

1+K,
Type 1 0 1 oo
K,
Type 2 0 0 1
K,
@ Sensitivity of Control System
g4 = (04 \ A)
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e Angle of Asymptotes= (2q D 2180

® Angle of Departure ¢, =180+6 & Angle of
Arrival— ¢, =180—¢ where,

¢=Z¢z _Z¢P 1

e Gain margin, GM= |G(0)H(0) |
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phase margin, ¢, =180-arg
G(0)H(0) |- e

® Transfer matrix =

Y(s
(5) =C(sI-A4A)'B+D
U(s)
® System is completely controllable if rank of
matrix Q_is equal to order of the system(r =
n) in
Q =[B: AB: AB .. iR

e System will be cnmpletely observable if rank
of Q, equal to order of matrix (r = n) in
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